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Hydrogen + Oxygen —= Water
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Copper (II) oxide + sulphuric acid =—

Copper (1I) sulphate + Water
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CuO(s) + H, SO, (ag) — Cu Sogaq) + H, O()
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Calcium Carbonate + hydrochloric acid —
Calcium chloride + Water + Carbon dioxide
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CaCO; + HCI —= CaCl, + H,0 + CO,
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CaCO; + 2HCI — CaCly + H0 + CO,
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Ca CO4 (s) + 2 HCl(aq) —= Ca Clyaq) + H,0() + CO; (g)

AlR?



pg—isiiall ey Jelodill [ Fee 1) ]
Pddaall s, 9dS g yaugdl pbaa
D WS LS sl
il ) lS b e g g
IR T pgeiiadl IS

magnesium + dil. Hydrochloric acid —
magnesium chloride + hydrogen
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Mg + 2HCl — Mg ClL, + H,
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Mg (s) + 2 HCl (aq) —= Mg Cl, (aq) + H, (g)
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Magnesium + Oxygen —= Magnesium Oxide
Mg + O, — MgO
2Mg + O, — 2MgO
2Mg(s) + O, (® —= 2MgO (5)
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